Twelve-and-a-Half Days An Adventure in Meta-Planning

Chuck Garner, Ph.D.

Department of Mathematics Rockdale Magnet School for Science and Technology

October 15, 2009 / Georgia Mathematics Conference



Outline

Scheduling

Harsh Reality

Hard Choices

Time Frames

Conclusion

▶ Block or Not?



- ▶ Block or Not?
- ▶ Block: 100 minutes for 90 days = 9000 minutes



- ▶ Block or Not?
- ▶ Block: 100 minutes for 90 days = 9000 minutes
- ▶ Standard: 50 minutes for 180 days = 9000 minutes



A/B Block Schedule (Odd/Even)



A/B Block Schedule (Odd/Even) Average class length: 93 minutes



A/B Block Schedule (Odd/Even) Average class length: 93 minutes

93 minutes for 90 days = 8370 minutes = 139.5 hours



```
A/B Block Schedule (Odd/Even)
Average class length: 93 minutes
```

```
93 minutes for 90 days = 8370 minutes
= 139.5 hours
= 17\frac{7}{16} working days, or w.d.
```

$$(1 \text{ w.d.} = 8 \text{ hours})$$



Scheduling

Let's count learning days for AP Calculus by taking away the non-learning days.

Semester Exams: 2 days

PSAT: 1 day

Scheduling

GHSGT: 2 days

GHSG Writing Test: 1 day

Days remaining: 84

Conclusion

Georgia Tech Field Trip: 1 day

Science Fair: 1 day

Days remaining: 82

Conclusion

Rock Eagle: 1 day

AP Exams: 2 days (average) After the AP Exams: 5 days

Tests: 6 days

Sick Days: 4 days

Lots of Stuff Happens...

Exams, Tests, PSAT, GHGST, Field Trip, Science Fair, Rock Eagle, AP Exams, Sick Days . . .



Lots of Stuff Happens...

Exams, Tests, PSAT, GHGST, Field Trip, Science Fair, Rock Eagle, AP Exams, Sick Days . . .

This does *not* include other field trips, assemblies, pep rallys, furloughs, other conferences, exam reviews, . . .



Lots of Stuff Happens...

Exams, Tests, PSAT, GHGST, Field Trip, Science Fair, Rock Eagle, AP Exams, Sick Days . . .

This does *not* include other field trips, assemblies, pep rallys, furloughs, other conferences, exam reviews, . . .

From 90 Days down to 64



▶ How many tests do you give? How many quizzes?



- ▶ How many tests do you give? How many quizzes?
- ▶ Would you count test review days as learning days?

- ▶ How many tests do you give? How many quizzes?
- ▶ Would you count test review days as learning days?
- ▶ Is the classic "fun" lesson really worth it?



- ▶ How many tests do you give? How many quizzes?
- ▶ Would you count test review days as learning days?
- ▶ Is the classic "fun" lesson really worth it?
- ▶ Is computer lab time worth it?



- ▶ How many tests do you give? How many quizzes?
- ▶ Would you count test review days as learning days?
- ▶ Is the classic "fun" lesson really worth it?
- ▶ Is computer lab time worth it?
- ► How many minutes in each class is spent going over homework?

- ▶ How many tests do you give? How many quizzes?
- ▶ Would you count test review days as learning days?
- ▶ Is the classic "fun" lesson really worth it?
- ▶ Is computer lab time worth it?
- ► How many minutes in each class is spent going over homework?
- ▶ How often do you re-teach?



Some Calculations

26 days sacrificed:

93 minutes for 26 days = 2418 minutes = 40.3 hours



Some Calculations

Scheduling

26 days sacrificed:

93 minutes for 26 days = 2418 minutes
= 40.3 hours
=
$$5\frac{3}{80}$$
 w.d.

Some Calculations

Scheduling

26 days sacrificed:

93 minutes for 26 days = 2418 minutes
= 40.3 hours
=
$$5\frac{3}{80}$$
 w.d.

Total learning time: $17\frac{7}{16} - 5\frac{3}{80} \approx 12\frac{1}{2}$ W.d.



▶ Students have 180 7-hour days = $157\frac{1}{2}$ w.d.

- ▶ Students have 180 7-hour days = $157\frac{1}{2}$ w.d.
- ▶ Lunch is 33 minutes each day for 180 days = $12\frac{3}{8}$ w.d.

- ▶ Students have 180 7-hour days = $157\frac{1}{2}$ w.d.
- ▶ Lunch is 33 minutes each day for 180 days = $12\frac{3}{8}$ w.d.
- ▶ Three 6-minute class changes each day for 180 days = $7\frac{3}{4}$ w.d.

- ▶ Students have 180 7-hour days = $157\frac{1}{2}$ w.d.
- ▶ Lunch is 33 minutes each day for 180 days = $12\frac{3}{8}$ w.d.
- ▶ Three 6-minute class changes each day for 180 days = $7\frac{3}{4}$ w.d.
- ▶ Student total: $137\frac{3}{8}$ w.d.



► Forget "learning days"—How long are students out of your class?



► Forget "learning days"—How long are students out of your class?

Add back in Rock Eagle, Sick Days, Tests and after AP exam days (16 days): 64 + 16 = 80 days $\approx 15\frac{1}{2}$ w.d.

- ► Forget "learning days"—How long are students out of your class?
 - Add back in Rock Eagle, Sick Days, Tests and after AP exam days (16 days): 64 + 16 = 80 days $\approx 15\frac{1}{2}$ w.d.
- ▶ 8 classes, each $15\frac{1}{2}$ w.d. = 124 w.d.



- ► Forget "learning days"—How long are students out of your class?
 - Add back in Rock Eagle, Sick Days, Tests and after AP exam days (16 days): 64 + 16 = 80 days $\approx 15\frac{1}{2}$ w.d.
- ▶ 8 classes, each $15\frac{1}{2}$ w.d. = 124 w.d.
- ▶ Recall: total time available to students in class: $137\frac{3}{8}$



- ► Forget "learning days"—How long are students out of your class?
 - Add back in Rock Eagle, Sick Days, Tests and after AP exam days (16 days): 64 + 16 = 80 days $\approx 15\frac{1}{2}$ w.d.
- ▶ 8 classes, each $15\frac{1}{2}$ w.d. = 124 w.d.
- ▶ Recall: total time available to students in class: $137\frac{3}{8}$
- ▶ Time out of your class: $137\frac{3}{8} 124 = 13\frac{3}{8}$ w.d. each school year. (Equivalently 69 block class periods)



What Can Be Done?

▶ Plan for interruptions



What Can Be Done?

- ▶ Plan for interruptions
- ▶ Make tough choices



What Can Be Done?

- ▶ Plan for interruptions
- ▶ Make tough choices
- ▶ Spread the word—to parents, to business, to administration